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10.

OR(3721d)

Explain the MIS. Explain its significance in
Management .

TH.IMS. 0. Bl gRYTRT &3 | Adoic o
3P HEcdl Bl GHSMY |

What are the inputs and outputs of systems
design ? Explain System Documentation. 8

Ricew feoizsT @ $Yc U9 3nmScye m 2 |
Rien Txardsiiexor 993y |

OR(3721d)

Describe the role and tasks of System Analyst.
Ry YArferee @ f®T @ sl &l
aHY |

What is System ? Explain Characteristics and
types of system. 8

Rieeq @ar € ? Rived & o1 td Su>
PRI B TS |

04022 18405

2019(Even)

Sem. IV - CSE
Sys. Analysis
Full Marks : 80

Pass Marks : 26

Time : 3Hrs.

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥l @ IR T, UAS U BT A 13752 |
Answer all Five questions from Group B, each question
carries 4 marks.
7u—B & il uia gl @ SR <, UAD U BT 4 4 3B 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |

P.T.O



O’'Ld

| i)
Il b ek lely @ (323 1PRIBJNIG)

8 ‘Suruuerd waysAs ur ddouerodwir sy pue
Apmys K11qIsedy Jo sadA) Judidygip oyp uredxyg

|2 I (@ lORpD @ L3lng)
lelgfl) RIb LIB IelRk f L3LSY) kDMRY

"uU31SP WOISAS
ul pasn SAIS0[OpPOYIAW UIISAP snoueA urejdxyg

(lbkE)IO

| 3k BRR28 B AP Ik
pd BR| MBLIke 1@ Uadb IR @ DTAS

‘[re1ap ur way) urejdxa
pue 19p10 Ul DS Jo soseyd oy [[e ISI'T

2 AR & |2k blh Yl

‘suonsan) AL [[& Jomsuy

0r=5X8

J dNOoUD

SOv8I S1 oro

asay3 Jo duoN (p)

uonedyroads ugisa( (9)

QdouBwWIOyIdd (q)

uoneoyroads wolsAg ()

................ se umouy s1 poredod
yuswnoop oYy oseyd usIsop oY) YV ()

Utk bpRhe (»)
BR ()
g (k)

122RY (i)
18 sal2

9say) 9yl Jo 1V (P)
$89001( (9)

e1eq (q)
wISAS ()

“SIN
JO .IOJOBJ 1u13110d(11! ue S! ...................... ([)

- BR| 2bbkE 1@ howp| DbRhe Rk

07=07X1 : suondo
SuIMO[[0} oY) WOIJ JOMSUE J[qEIINS JSOW Y} IS00Y))
vdiodadn
oro 4 SO¥81



18405 14 04022 04022

5.

(i)

Define module coupling in detail ?

4
Areyge Hufe T 1 IR 9 aarear 3 |
OR(3121d1)
Define Office Automation System in brief ?
o N _ _ (iii)
A AT Riveq @) dfdra s
P |
What are the characteristics of a good design.
4

o Rese @ ol B R | "

OR(3721d)

What are types of Group Communication ?
(iv)
19 SR HIE @ YeR &l fad |

3 18405

fSoiga a)v1 @ 919 IR fHy g
SXATAST . & w9 H oEr
SITdT 2 |

@1 Rreew fafader

@) u<ziq fafadwr

(@) feurza fafadar

() 379 4 @I -T2V |

How many steps are in SDLC ?
(a) 4

()5

(c) 6

(d) 10

SDLC % fod- =xvr 8ld 2 |
(31) 4
@) 5
(|) 6
(<) 10

Coding and Testing are done in a
(a) Top-down Manner

(b) Bottom-up Manner

(c) Ad-hoc Manner

(d) None of these

P.T.O
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(31) srer gremy

@) srer el

(|) srer sHfST

(%) ster Redwe

GROUPB

Answer all Five Questions. 4x5 =20

gl ufg yo & SR o

2. Compare the Object Oriented Approach with
Module Oriented Approach. 4

Jfasige ATRYTT VR aAT Afsgd
AMRYTT YR @Y Foaqr o |

OR(3721d)

Differentiate between Verification and Validation.

dRfPHe vd Afaseq @ wea on o |

04022

(vi)

(vii)

(vii)

(viii)

5 18405

AFecday dis &I g2l W7 SDLC

(]) Sadudic Yus SfagACe

The Data flow diagram is the basic
component of ................ system.
(a) Conceptual

(b) Logical

(c) Physical

(d) None of these

STl Yol S3UTH & 4R1e <
............... Rew 21

(31) dAF3rA

COGISIES

(&) el

(®) 39 & 318 &

SDLC stands for ..................

(a) System Development Life Cycle
(b) Structure Design Life Cycle

(c) Structure Development Life Cycle
(d) None of these

P.T.O
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(xvi)

(xvii)

(xvii)
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Rieew fagrdve &) foa @ s 8rar
e ?

(31) AR

(@) g

(|) 9UTR

() @

The receiving data system involves which
of the following files.

(a) Vendor

(b) Inventory

(c) Purchasing

(d) All of these

UTIddl STST VTTell § &I9 9T BIsd
oA Blar 8 ?

(ar) dsx

() grded

(&) gl

() w+

(xviii) A system must be composed of more then

one
(a) Subsystem
(b) Element

(¢) Super System
(d) All of these

04022

x)

(xi)

(xi)

(xii)

7 18405

Error Report is an example of
(a) Output Process

(b) Input Process

(c) Process

(d) None of these

TR Ruid foaar Sarexor 2 |
(31) ameHeye fafr

(@) sqe fafer

(w) fafer

(%) 39 9 B3 TE

................. System consists of program, data
files and documentation.

(a) Conceptual

(b) Logical

(c) Physical

(d) None of these
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11.

What are the advantages of Modular Design ?
Describe the role of coupling and cohesion in
effective Modular design.

Ars YR s & @™l &I qa] |
Areger fSog § sufei d dieeH
@ Al AT BT Sca@ N |

Write short notes on 8
(1) UML
(2) GUI

dférag fewofy @ —
(1) 4.9H.Yol
(2) sh.gams

OR(3721dT)

Write short notes on
(1) SDLC
(2) Coupling

dfera fewoft —
(1) v SLyer
(2) dufei

Heskok
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11.

What are the advantages of Modular Design ?
Describe the role of coupling and cohesion in
effective Modular design.
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